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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

7.

10-

Fierce winds and deadly waves were only one ----- many explorers like Christopher

Columbus confronted when sailing to unknown lands.

1) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers --------------- to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This --=-ceeeeueeee- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the ----eeeeee- ---- cffects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —---—eneeeeev
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would -----—-------- after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain -------——----—- in ways that can
Keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for -------=---—-- pain from
cancer and other chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —--eeeeaeeee- -- atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.

I) favorable 2) valid 3) obedient 4) traditional

The post office has promised to resume first class mail ----=—---—--—to the area on
Friday.

1) attention 2) progress 3) expression 4) delivery
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| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) —===eeeeeeeeeee 1970, she
completed her first performance with Hommage a Delacroix. (12) -=-=------—-- was
the beginning of an artistic career (13) =—=—ememmemmmex to the oneness of art and life.
(14) ~—mmmmmmmmmeem . actions and performances on streets and public squares. followed by
her "living environments" and the "windows", (15) ------- in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that $Hit

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

'No one anticipated how big it was going to be!' says Ken Wild, global International
Financial Reporting Standards (IFRS) leader at Deloitte, speaking of the European
switch to the new international accounting standards. 'Every company was too late and
too slow in preparing—even the good ones.'

Accounting used to be in the hands of only the bookkeepers and auditors. Not any
more. The change in accounting rules has forced many Chief Executive Officers
(CEOs) to roll up their sleeves. Even when they have reached the first milestone of the
changeover, they need to keep up to date with ongoing developments in IFRS in order
to deal with the way their company's financial performance will be viewed from the
outside.

A changeover to IFRS involves far more changes than might at first appear. These
range from retraining staff and altering data collection systems to potentially changing
pay policies and adjusting key accounting policies in order to avoid anomalies in the
reported accounts. Changing over was more difficult than many originally anticipated.
It required a lot of adjustments to the computer information systems to try to build the
final financial statements.

Mark Smith, Director of External Reporting at Tomkins, led his engineering group
through the change. "There were really two phases to the whole project.' he says.
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'Firstly, we had to work out which accounting policies had to change. Secondly, we
had to understand how to produce the new style of accounts." The extra disclosure
requirements caused headaches. 'It was not necessarily huge additional amounts of
data, but the differences in the data which caused problems—collecting it and
explaining why you need it.'

16- What does the passage primarily discuss?
1) The difficulties involved in anticipating the significance of the European changeover in
accounting systems
2) The challenges of accounting according to the International Financial Reporting Standards
3) The new responsibilities of CEOs after the international change in accounting rules
4) The considerable changes brought about by the European switch to the international
accounting standards
17-  According to paragraph 2, the new accounting rules have -—-—---eeeeeev,
1) compelled CEOs to get involved in accounting
2) facilitated the jobs of bookkeepers and auditors
3) made CEOs employ new professional accountants
4) drawn up a specific dress code for not only bookkeepers and auditors but also CEOs
18- The word "ongoing" in paragraph 2 is closest in meaning to ----—----—- ——
1) current 2) casual 3) upcoming 4) inadvertent
19-  Which of the following is NOT mentioned as a requirement of the changeover to IFRS?
1) Providing in-service training for employees
2) Modifying specific accounting policies
3) Altering abnormalities in additional data
4) Changing systems of gathering data
20-  Which of the following can be inferred from paragraph 4 about the new accounting rules?
1) The most effective adjustments were made in the data collection and data analysis
procedures.
2) The size of the data was not the main cause of trouble.
3) The key accounting policies remained unaltered.
4) The new style of accounts was not necessarily more efficient.

PASSAGE 2:

The business strategy matrix model views the firm as a collection or portfolio of assets
grouped into strategic business units. This technique has been disparaged by some as a
cause of inappropriate diversification among business units. It has led firms to acquire
or develop unrelated business units that the firm's officers did not fully understand. For
example. the managerial expertise needed to run a successful electronics firm may be
different from that needed to run a successful baking company. Nonetheless. this
model can still provide some insights into capital budgeting strategy.

The business strategy matrix model emphasizes market share and market growth
rate. Based upon these attributes, business units are deemed to be Stars, Cash Cows,
Question Marks. or Dogs. Cash Cows typically are business units with leading market
positions in maturing industries: the firm can direct the cash that these units generate
to other business units that need it. such as Stars and Question Marks. The Stars (units
with good market positions in high growth markets) need funds to expand and develop
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competitive advantages, as do some Question Marks. Proper strategies to build
competitive advantages may turn Question Marks into Stars: if these strategies are
unsuccessful, the firm may have to divest Question Marks. Dogs have poor market
positions in low-growth industries: unless a turnaround strategy is feasible, these also
are divestment or liquidation candidates.

If an organization uses the business strategy matrix to assist in planning,
management must be sure to manage the firm's market share in a way that maximizes
shareholder wealth.

21- According to paragraph 1, all of the following are true of the business strategy matrix
EXCEPT that it -=-eamemeememv,
1) classifies firms into different strategic business units
2) is a sophisticated model that cannot be well understood by inexperienced officers
3) can be helpful in capital budgeting strategy
4) has been criticized on the grounds that it produces improper diversification
22- The author mentions an electronics firm and a baking company in order to illustrate

1) why developing relevant managerial expertise can help in running any business

2) how using the business strategy matrix can equally contribute to two essentially
different businessecs

3) why each of these businesses require different managerial expertise

4) how the business strategy matrix can cause acquisition or development of inappropriate
business units

23-  According to paragraph 2, which of the following can be inferred to be the best
candidates for new investment?

1) Cash Cows 2) Stars 3) Question Marks  4) Dogs
24- The word "these" in paragraph 2 refers to -------cneeeeev,

1) poor market positions 2) strategies

3) Dogs 4) low-growth industries

25-  What is the function of the last paragraph?
1) To advise caution in employing the business strategy matrix
2) To specify the type of organizations that can use the business strategy matrix
3) To instruct readers various ways ol maximizing shareholder wealth
4) To suggest that managing the firm’s market share calls for careful advance planning

PASSAGE 3:

Should management be afforded flexibility among alternative treatments that would fit
the different circumstances in ways that satisfy accounting objectives? Increasing the
uniformity of accounting standards could reduce audit (monitoring) costs and the
ambiguity of the resulting signal. Reducing the ambiguity of the signal should increase
the reliability of the resulting inferences.

On the other hand. confining generally accepted accounting principles eliminates
the flexibility that managers can use to convey their expectations of the firm's
prospects if they have the incentives to do so. This reduction in the ability to signal
counteracts the reduction in monitoring costs produced by enforcing uniform
standards. Thus. there is an optimal amount of uniformity of accounting standards that
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28-

29-

balances the costs of limiting management flexibility and signaling against the benefits
inherent in the reduction of monitoring costs due to uniformity.

In light of the recent accounting scandals, the SEC, FASB, and others have been
clamoring for movement away from detailed rules toward more general principles. Yet
it is not clear what these regulators mean by "principles." If principles are supposed to
be general guidelines akin to a conceptual framework, this would take us back to the
pre-FASB era, when far fewer rules were binding. Yet that era witnessed a plethora of
accounting scandals. It is reasonable to expect that unless managers' and auditors'
incentives are properly aligned with those of long-horizon shareholders, the
elimination of rules will only serve to exacerbate the problem of misrepresentation.

It can be inferred that the question raised at the beginning of the passage —----eeeeeeee,

1) is a question that every manager should be able to answer

2) does not have a clear-cut yes or no answer

3) is not in fact directly relevant to accounting principles

4) limits the discussion of management flexibility to a particular matter

According to paragraph 1, unifying accounting standards may ultimately lead to

o o

I) enormous monitoring costs 2) increased ambiguity of accounts
3) more reliable inferences 4) more valid objectives

The word "counteracts" in paragraph 2 could be best replaced by ---eeeeeeaeas,
1) offsets 2) ensues 3) diminishes 4) overcomes

Which of the following is NOT mentioned in paragraph 2 as a factor that may reduce

management flexibility?

1) Decreasing monitoring costs

2) Unifying accounting standards

3) Restricting accounting principles

4) Lowering optimistic expectations

Why does the author mention the pre-FASB era in the passage?

1) To discuss accounting scandals in a chronological order

2) To explain the reasons why that period witnessed few accounting scandals

3) To give an example of an era when detailed rules governed accounting

4) To argue that a movement toward more general principles may not lead to any
positive consequence
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